
1.  There are 40 chairs in the dining room of a restaurant.  There 
are 10 tables.  Each table has the same number of chairs at it.  
How many chairs are at each table?

Divide _____ into _____ equal groups
OR
Divide _____ into groups of size ______

2.  There are 36 students in the classroom.  They are split into 12 
even groups.  How many students are in each group?

Divide _____ into ______ equal groups
OR
Divide ____ into groups of size _____

3.  It takes Mr. Potter 5 minutes to make one sandwich.  How 
many sandwiches can he make in 50 minutes?

Divide _____ into ______ equal groups
OR
Divide ____ into groups of size _____

4.  A chip factory fills each bag with 3 ounces of chips.  If they 
produce 60 ounces of chips, how many bags will they fill?

Divide _____ into ______ equal groups
OR
Divide ____ into groups of size _____

5.  Mr. Potter drank 48 ounces of soda.  He drank 4 sodas total.  
How many ounces are in each soda?

Divide _____ into ______ equal groups
OR
Divide ____ into groups of size _____

This is because I know how many tables (groups) I have.  I DON'T 
know how many chairs go with each table (the size of my groups).

This is because I know how many groups of students there are.
I DON'T know how many students are in each group (the size).

This is because I know how long it takes to make a sandwich 
(the size of the group) and I want to figure out how many 
groups of 5 are in 50.

This is because..
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